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Post(a) 01RB10, inclusive ADC a01RB10
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| Post(a) 01RC10, inclusive ADC
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Post(a) 01RD10, inclusive ADC
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Post(a) 02RB10, inclusive ADC
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Post(a) 02RC10, inclusive ADC
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Post(a) 02RD10, inclusive ADC a02RD10
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| Post(a) 03RA10, inclusive ADC
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Post(a) 03RB10, inclusive ADC a0O3RB10
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Post(a) 03RC10, inclusive ADC
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| Post(a) 03RD10, inclusive ADC a03RD10
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Post(a) 03RE10, inclusive ADC
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Post(a) 04RA10, inclusive ADC a04RA10
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| Post(a) 04RB10, inclusive ADC a04RB10
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Post(a) 04RC10, inclusive ADC a04RC10
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Post(a) 04RD10, inclusive ADC a04RD10
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| Post(a) 04RE10, inclusive ADC
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| Post(a) 05RA10, inclusive ADC a05RA10
= : Entries 1793874
O o fiif e e Mean 0.3791
80 = H R T RMS 1.983
= : Integral 1.794e+06
L S A X2 / ndf 1.52e+04 / 2
T s Constant 1.229e+06 + 1164
- S (L O SO Mean 0.3381+ 0.0004
o E Slgma 0.5759 + 0.0003
o S S
10
AT S LSS s 90 4 O | BSSRSSRRRSSIONS SSO— RSSO N
0 = [: r.|-|'|n|’_"t|n ﬂﬂﬂﬁmn.m.—rn.—nﬂmmj—.n—. .F'l.n.—in.n ol oo
0 50 150 200
ADC-ped
| Post(d) 05RA10, ADC, tag: UxV 2*thr dO5RA10
— Entries 573
14 — Mean 9.797
— RMS 26.57
12— Integral 572
= X2 | ndf 20.97 / 23
m ampl-G 823.6+41.1
g [— const-L 55.54 + 36.52
- MPV-L 1.071+ 40.594
61— Sig-L 14.68 + 4.31
T I
L T O s e TR IS SRR O I SOOI S
NSRS | M B O N B B-00. . 0
150 200




| Post(a) 05RB10, inclusive ADC
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Post(a) 05RE10, inclusive ADC
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L ——. G B ———

20 [ i | A oo R R

o CLI T [ PO R

150 200
ADC-ped
Post(d) O5RE10, ADC, tag: UxV 2*thr dO5SRE10

: : Entries 577
16 S Mean 6.671
= RMS 16.49
14 " Integral 575
12 b X? I ndf 23.41/18
\ | ampl-G 889 + 42.4
10 i B R A S const-L 68.02 + 10.94
8 SRR N N MPV-L 144+ 1.7
3 | sig-L 7.09 +1.26

100 150

200
ADC-ped




Post(a) 06RA10, inclusive ADC a0O6RA10
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| Post(a) 06RB10, inclusive ADC a06RB10
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=ut const-L 88.49 + 11.89
O MPV-L 17.4+1.3
8 it sig-L 7.065 + 0.881
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Post(a) 06RC10, inclusive ADC
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Post(a) 06RD10, inclusive ADC
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| Post(a) 06RE10, inclusive ADC a06RE10
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Post(a) 07RA10, inclusive ADC a0O7RA10
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Post(a) 07RB10, inclusive ADC
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Post(a) 07RC10, inclusive ADC
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Post(a) 07TRE10, inclusive ADC a07RE10
= Entries 1793874
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Post(a) 0BRA10, inclusive ADC a0O8RA10
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| Post(a) 08RB10, inclusive ADC
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| Post(a) 08RC10, inclusive ADC a08RC10

— Entries 1793874
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Post(a) 0BRD10, inclusive ADC
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| Post(a) 08RE10, inclusive ADC
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Post(a) 09RA10, inclusive ADC a09RA10
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A0 [ 3 d ol e g R CAAI IR oo

20 |- L | R L .-

0_ ! %Mnﬂmﬁﬁﬂnﬂnﬂ poeed lnefl o —ondl rirl.nn. = 4

100 150 200
ADC-ped
Post(d) 09RA10, ADC, tag | dO9RA10

. Entries 594
1 1 e o Mean 8.474
RMS 23.68
1 Integral 591
10 o b x? I ndf 17.04 / 23
ampl-G 958.3+45.5
) O O S s MO const-L 51.86+7.78
MPV-L 15.91+ 3.83
6 ] sig-L 10.82+2.21

150 200
ADC-ped




Post(a) 09RB10, inclusive ADC
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Post(a) 09RC10, inclusive ADC a09RC10
Entries 1793874
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| Post(a) 09RD10, inclusive ADC a09RD10
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Post(a) 10RA10, inclusive ADC
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Post(a) 10RB10, inclusive ADC
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Post(a) 10RC10, inclusive ADC
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Post(a) 10RD10, inclusive ADC alORD10
140 = s e Entries 1793874
- | 5 Mean 0.1588
120 RMS 1.972
Integral 1.794e+06
100 X2 [ ndf 5.146e+04 / 2
Constant 1.222e+06 + 1322
80 Mean 0.1445 + 0.0005
60 Sigma 0.5686 + 0.0004
To J T R L || ..................................................................................
20 b ----------------------------------------------------------------------------------
0 ﬁn-l'h‘m"-r'm”ﬁfﬁm r|—r|—.|.—..rru1 R o o ] .-.rll'l-.n nn
150 200
ADC-ped
Post(d) 10RD10, ADC, tag: UxV 2*thr d10RD10
Entries 674
16 Mean 9.274
RMS 22.47
14 Integral 672
12 x? I ndf 27.03/28
ampl-G 959.8+42.9
10 const-L 56.51+ 8.51
8 MPV-L 19.93 + 2.87
A sig—L 10.98+2.05
4 B
2 e
0 - ---H-H-HI 1 1 | 1 1
150 200




Post(a) 10RE10, inclusive ADC alORE10
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Post(a) 11RA10, inclusive ADC allRA10
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Post(a) 11RB10, inclusive ADC allRB10
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| Post(a) 11RC10, inclusive ADC
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Post(a) 11RE10, inclusive ADC
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Post(a) 12RA10, inclusive ADC al?RA10
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| Post(a) 12RB10, inclusive ADC
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| Post(a) 12RC10, inclusive ADC al?RC10
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| Post(a) 12RD10, inclusive ADC al?RD10
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Post(a) 12RE10, inclusive ADC al?RE10
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